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E3H 22l & BE 3,465,193 1,947,818 1,517,375
= 548,800
s 770,000
== 365,800
Al 1,790,593
=22 25 ¥ &l 3,359,958 1,856,583 1,503,375
= 548,800
[ 770,000
= 365,800
Al 1,685,358
ZotRal KRA2el At 78,958 64,583 14,375
101 @124H| 11,798 11,423 375
MU ORINZENSES 11,798 11,423 375
O™ I 2| 1=y 4,578
—QIAH| 85,6803 x1& »52& 4,4%




M 2=
Hu: 25T 2ol Y BE
ol 2 25 € E4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—28= 122,000 122
OZefgtu 22l IRy 4,578
—QIAH| 85,6803 x1& »52& 4,45
—=28= 122,000 122
OXd & SEEZ3RL 22| A2Y 2,642
— oIl 85,6802 x5 H 6 2,57
—28= 71,0002 il
201 et 3| 18,160 17,160 1,000
02 S3=gHl 18,160 17,160 1,000
OEZFA W StEA HASA(BMHA)
16,000,000 16,000
O=zANdsus2 52| FAACIES
180,000& « 12 2,160
401 AIEHIX R0 49,000 36,000 13,000
01 A28l 49,000 36,000 13,000
Ol I & AASE Al2= RAIZCIA
e 5,000,000& 5,000
OSEAK M2 FA 2=
2,000,000 2,000
OSEA =Xt =8 JHIAE
2,000,000& 2,000
ORgsd Az =& 2|
4,000,000 4,000
ORg3d SHDIAE 25,000,000 25,000
OESAASH ZSHIJIAE
6,000,000& 6,000
OXE & gE=atrat =H HEHA
3,000,000 3,000
ORE3E € US= AIE=E EA1
2,000,000 2,000
ZAIAT =8 FIHE 2 A3 ML (HEAIY) 400,000 0 400,000
= 200,000
Al 200,000
401 Al HIZ S 0HbI 400,000 0 400,000
= 200,000
Al 200,000
01 A28l 398,000 0 398,000
OZBAAIX =Y 2 A3 ZEAY(HE
A 398,000,000 398,000
[ 199,000
Al 199,000
03 Al 20HHI 2,000 0 2,000
OAIZ20HbI 2,000,000& 2,000
= 1,000
Al 1,000




M 2=
Hu: 25T 2ol Y BE
ol 2 25 € E4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
g RM 2K AdA)E2 FHIAS (HEALY) 640,000 0 640,000
= 320,000
Al 320,000
401 AlZHIZ S 0HbI 640,000 0 640,000
= 320,000
Al 320,000
01 A28l 636,000 0 636,000
OtE = 2K dAJ|82 ZHIAIS(H
EhALY) 636,000,000 636,000
[ 318,000
Al 318,000
03 Al 20HHI 4,000 0 4,000
OAIE20HbI 4,000,000 4,000
= 2,000
Al 2,000
ZAS+2 0BUSR FH 2ZINLAI (HEALY) 500,000 500,000 0
[ 250,000
Al 250,000
401 AIEHIZ SR THYI 500,000 500,000 0
[ 250,000
Al 250,000
01 Al&H| 486,400 496,400 10,000
OS2 OIELIR 8 ZZHL A (
HEAL) 486,400,000 486,400
= 243,200
Al 243,200
02 Zeltl 10,000 0 10,000
OoZatl 10,000,000 10,000
[ 5,000
Al 5,000
03 Al 20HHI 3,600 3,600 0
OAIZ20HHI 3,600,000 3,600
= 1,800
Al 1,800
Y SEAMA SEF B2 ASAE 15,000 0 15,000
401 AIEHIX SO 15,000 0 15,000
01 Al&H| 15,000 0 15,000
OZBY SBAX S84 252 AYAI
15,000,000 15,000
e SEAX ZHIAH 35,000 30,000 5,000
= 24,500
= 4,200
Al 6,300
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Mo

=

30,000
21,000
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5,400

35,000
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=
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30,000
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34,676

A4,676

5}

z
J0
O
=
oy
=
10
Hi
H
e
ﬂ
fu
=
QR

Mho

=

100,000
70,000
12,000
18,000

80,000

20,000

401 AlEHIYL S THYI

hoH

=

100,000
70,000
12,000
18,000

80,000

20,000

03 Al 2 THHI

o

99,100

99,100
69,370
11,892
17,838

900

79,280

720

19,820

180




M 2=
Hu: 25T 2ol Y BE
ol 2 25 € E4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAIE20HbI 900,000 900
= 630
== 108
Al 162
LS OIBLSR BE=XISMS 100,000 100,000 0
= 70,000
== 12,000
Al 18,000
401 AIEHIZ R 0HYI 100,000 100,000 0
= 70,000
S 12,000
Al 18,000
01 A28l 99,100 99,100 0
OBUS4 OIBUS B4TIZAI
99,100,000 99,100
= 69,370
= 11,892
Al 17,838
03 Al 20HHI 900 900 0
OAIZ 20HHI 900,000 900
= 630
= 108
Al 162
LS OIHUS HAIZEIAIY 20,000 20,000 0
= 14,000
S 2,400
Al 3,600
401 Al HIZ S OHbI 20,000 20,000 0
= 14,000
= 2,400
Al 3,600
01 Al&H| 20,000 20,000 0
OZAEF2t OIBLIS SAIZCIAIE
20,000,000 20,000
= 14,000
= 2,400
Al 3,600
SEA X2 Btat =3 FH| 604,000 210,000 394,000
=S 241,600
Al 362,400
401 AIEHIZ SR THYI 604,000 210,000 394,000
== 241,600
Al 362,400




M 2=
Hu: 25T 2ol Y BE
ol 2 25 € E4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 604,000 208,200 395,800
OFEEA MEXEBA BIIA T8 FHIA
& 604,000,000 604,000
= 241,600
Al 362,400
e HE ALY 150,000 100,000 50,000
== 60,000
Al 90,000
401 AIEHIZ R 0HYI 150,000 100,000 50,000
< 60,000
Al 90,000
01 Al&H| 150,000 100,000 50,000
Oozetn HEAt 150,000,000 150,000
= 60,000
Al 90,000
2 & AIAKX ZHIAE 50,000 0 50,000
=S 20,000
Al 30,000
401 AIEHIZ SR THYI 50,000 0 50,000
== 20,000
Al 30,000
01 Al&H| 50,000 0 50,000
OZY 2 AIAIX HHIAI
50,000,000 50,000
= 20,000
Al 30,000
SStY 4SHE = HHEMAIE XA 379,000 20,000 359,000
= 265,300
Al 113,700
401 Al HIZ R 0HHI 379,000 20,000 359,000
= 265,300
Al 113,700
01 Al&HI 375,100 20,000 365,100
OFS4HE MEME Z LBAIL &
XA 375,100,000 375,100
= 262,570
Al 112,530
02 Zeltl 1,500 0 1,500
OZell 1,500,000 1,500
= 1,050
Al 450
03 A& S CHYI 2,400 0 2,400
OAIZ20HHI 2,400,000 2,400




M 2=
Hu: 25T 2ol Y BE
ol 2 25 € E4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,680
Al 720
SSAME YMHAIAE |X2el At 12,000 12,000 0
= 6,000
Al 6,000
402 2I2FX=01 & 12,000 12,000 0
= 6,000
Al 6,000
02 RIINEASEZ(0IETHR) 12,000 12,000 0
OB SAHE H2AF HTHAIAY S22 ALY
4,800,000 4,800
= 2,400
Al 2,400
OTSAtE 2ZA ALY S22 ALY
7,200,000& 7,200
= 3,600
Al 3,600
SSAME MHLTHAIAE ASAHS 156,000 0 156,000
= 78,000
Al 78,000
402 BIZtAH=01 A 156,000 0 156,000
= 78,000
Al 78,000
02 QI X2 AL EE(OIHTHE) 156,000 0 156,000
O Z A THEHYTHAIA RS =AM
56,000,000& 56,000
= 28,000
Al 28,000
OH2AL THELTHAIAE 2EALS
100,000,000 100,000
= 50,000
Al 50,000
g HOEO0| 42 drus2 A A 90,000 0 90,000
401 AlEHIZ 2018 90,000 90,000
01 A&l 90,000 90,000
OXY HOZO| 22| H4DIB ALY 27
OH e 90,000,000 90,000
EHM 2el 105,235 91,235 14,000
ZoH 22l 105,235 91,235 14,000
201 et 3| 31,040 28,040 3,000
01 At22t2l] 23,040 21,040 2,000
O=2z A2 =& =l
8,000& x4 *10€~12& 3,840




M 2=
I Bl 2l & BE
Chel: 23t 2t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OYER}RH & 7= 42 MA
500,000 <22 1,000
Ol =atl 2AHHZI A8 At=24l
70,0008 %3022 4,200
OEReRE 2 TA7Y
100,000 10 1,000
ORE=2a =228 2aas 7
2,500,000 15 2,500
OS2 2HAE 82 2EH MH
3,000,000 x25 6,000
O=23t &It EA
150,000& x 109 2+22] 3,000
OXNE=2=t HE+ JHIME NE=
300,000 %53 1,500
02 S3=gHl 8,000 7,000 1,000
OXE & gERaRrM 532=
8,000,000& 8,000
202 04| 5,695 5,695
01 =LHO LI 5,695 5,695
o2z g2 =8 885,000 885
O22 A =24l &2 SS2X &
80,0002 x4 +83] 2,560
OBEA 28 X2 8 g2 FA(84pd
HEESM 820t oA =8 &)
75,0003 *3& *102] 2,250
301 22N = 500 500 0
09 2IeI=E 0| 500 0 500
O3t 20Xt 2t 3l 500,000 500
401 Al HIZL 01| 68,000 57,000 11,000
01 Al&H| 68,000 57,000 11,000
OgESatFat e &X
2,000,000 *57H 2~ 10,000
O BYSH OHYE &5
10,000,000& 10,000
OXE & SEERY 25 2Atd
1,500,000 1000 2 15,000
O=22t) &9 ~= 1,000,000 *23] 2,000
OZ2stM 2ZAIE 84 & B
300,000& #57H A-#22] 3,000
OXNE=2z & SE2et7a W2+
16,000,000 16,000
OSERSFL AEE RXE(15IHA)
10,000,000 10,000
OS3 2579 HY =242
2,000,000& %12 2,000
=34 Us SsEAl 7 467,323 487,111 19,788
Zstlls &S 167,133 172,510 Ab,377




M 2s0l=1
ZH: B2 A 2HTA P
telr 23tz &S (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
JEsH 154,533 189,910 Ab,377
201 er23 | 144,200 144,200 0
01 At2teltl 12,600 12,600 0
OSKE AREN S|
8,000x4E*102/* 12& 3,840
O =& 2258 7Y 110,000% 122 1,320
OgtliAL =8 A2F 2
100,000% 122 1,200
Omlot= =g 150, 000+4CH+23! 1,200
OYURA 22| ADE 2
200,000« 123 2,400
Oogdd EIHAIAE 22|
220,000% 123 2,640
03 Ar=EHI 131,600 131,600 0
Otz J1&lsA 120,000,000 120,000
OJ88% 822 M& 11,600
—Z0a2 Y = 150, 000%82 1,200
—=u ==Y 250,000%2H 2+83] 4,000
—30& g9 110,000+82 880
—XEZE =9 150,000+82 1,200
— i 40,000+82] 320
— & 250,000+82 2,000
—cl=a 1,000,000+22] 2,000
202 04l 9,293 9,293
01 SLHoIH 9,293 9,293
OJ18s8a & HAl A 3,397,000 3,397
OJasa & JAl FE(S2A)
80,0008 x1&* 12 960
Ot=2s=a 20 ed us| &4
3,350,000 3,350
flHtl=d=2Es W Isls A
586,000 586
OotdzeIH g2, 22, A2 5) &7
n= H4 1,000,000 1,000
301 EtE NS 1,040 832 208
11 AALAHIXIES 1,040 832 208
O3¢ =Xt & 2t =01 &H|
8,000%10&%132] 1,040
I A 12,600 12,600 0
201 er23| 12,600 12,600
01 At2teltl 770 770
O&Al =8 425 2¢ 110,000%72] 770
03 A= SHI 11,830 11,830 0
OO0zl JI=EAl 11,830




SH: 2sH0SD
FH: 3F Ys S Al 7
telr 23tz &S (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—=Z022 A% S0 HE
150,000%72] 1,050
—HHH M 40,000+72] 280
=5 MH 1,500,000%72] 10,500
Stz AIEEH 2A2el 300,190 314,601 A14,411
S0lg2 3 13,879 19,149 Ab,270
201 Ler23 | 13,374 17,644 A4,270
01 At22t2lt] 13,374 17,644 N4,270
O&=D| etz 30,000+4CH* 123 1,440
ot Sxt= 40,000+8CH+12& 3,840
Ostdd 2 at&Al 28
42,000%30 A 1,260
Ostya #HEEE 7Y 55,000%262¢ A 1,430
Ostad el 12,000%20 71 *43] 960
OMgPISE(50L) 7 1,300+70&+ 122 1,092
OAld2e] £A2F Y 96.,000% 128 1,182
ORI & 223 1A
50,000 107K 500
oddtle =2 7Y 150,000%42] 600
OAlZ= 2t AtRlE MI% 90,000+57H 450
OM+=% +8IA =8 70,000%12] 70
OdSI| ABBA =2 160,000%12] 160
O=gel A ==& 120,000%12] 120
OAZOITRRIT HEDS 4248
200,000%12] 200
OEdd 83 uUSs =8 100,000%12 100
206 =4I 505 505
01 M= Hl 505 505
O=gel 223 (F2H, AI| 23) 7Y
364,000%14] 364
Odi2t+ XMeld - 47,000+3& 141
JIAIEHl RXl2el 43,100 33,100 10,000
206 M=l 4,600 3,100 1,500
01 M=4l 4,600 3,100 1,500
OIAHRE(FelA 21 95) 7Y
100,000+ 105 1,000
ORH0t013 HAEXI(M 2| 48) 7
100,000%55 500
OTIIRSB(XHED] 2 95) 7
160,000%105 1,600
Ooxg gz F¢ 30,000+50H 1,500
401 AIEHIZ SR THYI 29,500 30,000 A500
01 AlZ8| 29,500 30,000 A500




A 230=Dt
HY: B2 Qs 2BCAl 7
ol 23i0ls AlLEH SXI22 (SHol: )
SN - ZB - C9(B) - MRAY - BES il &k e HlmS2
OJ1H4 Bl & ASI| A2
500,000*4CH 2,000
OJIAHA 2H ¥ 018 X 2%
1,000,000+3CH 3,000
OXI|a &HI| R B
1,000,000%23] 2,000
OJIHA BE S B+ 3,000,000+ 14! 3,000
OO0 &Ll |X B
3,000,000% 14! 3,000
O JIHHH RXI
3,000,000% 14 3,000
OZHE =5t&Hl /X B
400,000+5CH 2,000
O3dE TZNH 2K B4
1,700,000 14 1,700
OCCTV Jtolet =Xl 2= 1,000,000% 14! 1,000
SEEH |X 2= 1,500,000%23] 3,000
Ol - 239 | =Xl 2=
500,000*43] 2,000
Odee)| |X 2+ 1,800,000 14! 1,800
OUs¢HE X A B+
1,000,000%23] 2,000
405 Kt S| 9,000 9,000
01 I = FF S| 9,000 9,000
oorol2 7 3,000,000+34 9,000
Z3tAlE FAl2tel 230,071 253,212 A23,141
201 2| 84,221 81,412 2,809
01 At 22|l 20,480 20,120 360
O=20zl2 ReIHHIEH
130,000%2JH A+ 12 3,120
O=0al2 Aot |8
200,000« 12& 2,400
O20g/& MI|ptMae |2
830,000% 12& 9,960
OO0z A=SHHFHEA
2,500,000+23] 5,000
02 2324l 63,741 61,292 2,449
O822stil=sl2Hesl 3|
5,000,000%13] 5,000
Oflgsordae| Xkt galdl
40,000%13] 40
Oagortd 2| X &3/l 50,000%12] 50
O=203 2 Mot+=ER23 180,000+ 122 2,160
O=0ga &3 3,800,000« 12& 45,600
O=2gd o=l 1,260+60 £ *3A| 2+x352 7,938
OQIHY 3l AIE= 30,000+ 12& 360




M 2s0l=1
ZH: B2 A 2HTA 7
ol 23i0ls AlLEH SXI22 (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ORrugss 7,700x12& 3
O20a& &9 A= 500,000%53] 2,500
307 @120l & 45,000 43,000 2,000
05 git?(& = 45,000 43,000 2,000
O20z2 ¥AEH 45,000,000% 14! 45,000
401 A2 HIRL R 0HbI 100,850 128,800 A27,950
01 Al&H| 100,400 127,900 A27,500
S0zl otk Ha 600,000%14] 600
O - ABIZ B4 U I8 HEt
3,000,000+ 14 3,000
O=20al&t M= A4
9,000+ 100&*22 1,800
O=0al2t 20 AL 2
2,500, 000%29H 2 5,000
O=20al2 ditet)| WHISAH
20,000,000% 14! 20,000
O20i3l2t H2&AlA 24 2T AL
20,000,000%14] 20,000
O20zl2 SHE AR HESSA
50,000,000%14] 50,000
03 Al 2 CHHI 450 900 A4S0
OAIE20HbI 450,000& 450
OFs Ay 2ed 13,140 9,140 4,000
201 er=23y| 2,640 2,640 0
02 S3=gHl 2,640 2,640 0
OO0ty dotr-ER=
20,000+ 12& 240
O0fs8dd &JIes 200,000% 123 2,400
401 AlZHIZL RO 10,500 6,500 4,000
01 Al&H| 10,500 6,500 4,000
O0tSHY deted)| wil
4,000,000+ 1CH 4,000
O0rEHY &l | 2=
2,000,000+ 14! 2,000
OotEsHd ZHIl &
1,500,000+32] 4,500




